EARAROBEEIERT — 2 N— IBISH —F

201955850 (B) 3m=#6H

mﬁi% 3% 500AT GRA) UETE] E& ‘ (X4&] # ‘ (@l — | & (&) 14000 &
[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
HAILIBATE 125, - . . EESE (ER)
i 5|1 40 3 o) 1(2_5)3 1-1 38.0 | 94.0 | 1 (4_(;6) ke
RiXLveh/XEr BAY—FPILTFIR HT &%
BERRA :25. - . . SBAFE (EXR)
o2 b 7715 [B] - i RN AR ?j; B) ERES
Z:Nd B:bhyTTIRLZR (ke
. 4 3 | ElEE 1:25.7 15-14 | 37.1] 90.3 | 13 | 428 |=tEEZ (R®)
3(815| 3~ 5.0 21/2) Lo |BTTLAF—LF (TR aRRM
ZANXZATNG BRI NNATAT L AL
o r 3 | FEBE= 1:25.8 - . . KAREE (FER)
4l5|g| xHHZ Loy L 2 8-8 38.0| 89.5 | 2 tg)z EPiiEHE
L:xEL/HTT BIRNLELRTAUZX BHE  EmH
P B3 | SEREA 1:26.2 4-3 38.6| 86.1 | 9 404 | EREHE= (3ER)
5|8|16| 71X T F1v b a51.0 ) g | W) 93Ty Es5T 5747
LTANWNTTFY — B X—=N=)—7 > EvJILy RT77—L4
5= o =8 E 2% 196 — X i EFES (EXR)
6lilalER LTS5 o3 Easn 1(32/%3 12-11 38.0| 85.0 | 8 (Tf) EE;}
R:TVHAZAIL R B:HIL b —H— EH OB
oy — KEEN : - =g (EX)
2 3| XL=7 4 3 5% N 1(/72?:;1 4-5 38.8| 84.5 | 4 (4212) UhE
LiXLTIARZ N BiAA TN Y- KEHIS
S HRF— : - FEHR A (FEE)
N ME=E T H 3 e 1(.12;52.)5 10-10 [ 38.4| 83.4 | 5 (4_6; 2
R:F4—TZAHA B:TUSwRHT 799577 — I
IRHAHHEE :27. — . . SHE— (ER)
9 glLYTY 3 hy (13217/ 21) 2-2 39.7|79.1 | 6 zzg;) 232
RYHRG4TFTR BT LS Y — ISR SRThE
o0 . = . - =
10l 8| Z/¥>*%—7— K [B] #3 | BARE [h 1212 | 388|784 | 7 | S| HEER (RA)
QH—FT5a BRI E-H—v 0| 4 g
. = o JNE%xE : - PARE (BEXR)
1" S IN T [B] 3 MR (11.237/.43 4-5 39.8| 76.7 | 15 (4_728) AR
R:AN=3I2TKR—L B:eANLHTVER A NRES
NN IR : -~ A= (R®)
1ol7l1a| T8 E—Y H 3 B 1(/]2{:;1 2-3 40.0 | 76.9 | 12 (:?2) =
L:Y=ZR4—3=24— B:J—-F—T1I3> FIRM I
— E2MEE :27. - . . KiRABZ (EX)
13 4| 77207 # 3 ¢! (1729774) 14-12 [ 39.0| 76.0 | 1 ig;t P
L:O0—-KH+a7 B3I T7—-Ta B o s
N FRIOARA :27. — . . KR (ER)
14! 5110 A FINAY 4 3 $55.0 1(237)9 8-8 40.1] 72.9 | 10 (4_928) é;ﬁg:
R:eLANC N BTV b e}
S S 4 3 | FEHE#ER 1:28.3 16-16 39.4| 68.8 | 16 442 | fEEB= (FEX)
15011 ®F—XHZ— 54.0 21/2) () | TR
R:O—XF¥>J&L B:TIEYNZ— K7 7 — L
o BEHE e — BEEER (FR)
1611|260 Ky —L4 i 3 LR (17.%;)) 7-15 43.2| 54.2 | 14 ::322) =
R:YVvREY4A4 B:aLO0914>7 ke
@ 71 L
) 50.6-38.0
NA>Z4 L | 12.0-10.9-11.8-12.6-13.0-12.3-12.7
@ 11— S —EBlIEfL
1T=7r=
20—7—
Gol=5r= (x5,6,13) (3,7,16)1(9,10) (14,12) (8,2)4,15,11
40—F— (x5,6) (13,16) (3,7,12) (9,10)14,2(8,4) 15,1, 11
[ N3
BB 5 270H 714K 5-12 340M e E 3-6 540 JEHE 5-12-15 7,520/
8 B 5 1609 =19 2,130MH B = 5-12 570M B 5-12-15 26,190
12 1704 12-15 3,230M| | B 5-12 890M
15 860F9

ABICOVWTRDTEEERROODE. TR LIV,




